
Table 5. Performance on 35,996 blinded predictions

00 + 0 = 0001

00 + 0 = 0000.46

00 + 7 = 72E-0400.45

273 + 8 = 112E-040.0240.32

224 + 14 = 184E-040.0310.19

217 + 27 = 348E-040.0550.14

187 + 31 = 389E-040.0550.14

189 + 41 = 501E-030.0710.11

1511 + 62 = 732E-030.0870.07318

1415 + 93 = 1083E-030.120.06258

1549 + 269 = 3187E-030.390.05408

1153 + 424 = 4770.0120.420.04106

857 + 625 = 6820.0170.450.02607

580 + 1376 = 14560.0380.630.01808

683 + 1403 = 14860.0390.650.00846

683 + 1409 = 14920.0390.650.00839

683 + 1416 = 14990.0390.650.00454

584 + 1714 = 17980.0480.660.00393

388 + 2533 = 26210.0710.690.00312

291 + 4204 = 42950.1170.720.00112

0.35127 + 35869 = 35996110

(% true of total passing threshold)(trues+ falses= total)(false positive rate)(true positive rate)

success rate# passing threshold1-SpecificitySensitivity
score 

threshold


